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input(x, y)

Z:=x+tYy

output(z)
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output(s)
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input (n) ; input (n) ;

s :=0; s :=0;

i:=1; i:=1;

while (i <= n) { while (1 - (i - n) = 1) {
s := s + 1i; S := s + 1i;
i:=1i+1 i=1i+1

} }

output (s) ; output (s) ;
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input(n,m) ;
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BE5x yes
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wEEE%E input(x)
_ EETHEH
input(x) a%BA
s
1 4 yes
a:==6 A
no
4D 2 B
AN a:==2
no
a:=3 A
yes
5
E a:=5 A
S
Q)utput(y) a4 =4 L
a = 1 \
a:==6
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input (x) ;

a:=1;
while (a-5=0) {
if (a=1) then { if (A) then a:=6 else a:=2 }
else if (a=2) then { B; a:=3 }
else if (a=3) then { if (C) then a:=5 else a:=4 }
else if (a=4) then { D; a:=1 }
else if (a=5) then { E; a:=6 }

output (y) ;
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